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MATHEMATICS WORKSHEET (2014-15)

KNOWING OUR NUMBERS

CLASS VI
1. The greatest 5 digit number using the digit 4,9,0,3 is

a) 90043 b) 99340 c) 30049 d) 99430
2. 1 million is

a) 10 ten thousand b) 100 ten thousand ¢) 100 hundred d) 1 lakh
3. The smallest number of 6 digits having 3 different digits is

a) 100002 b) 210000 ¢) 100020 d) 200001
4. The number formed by interchanging the digits 2 & 3 in 375629 is

a) 375629 b) 275639 c) 375692 d) 356729
5. 100 thousand is known as in Indian system

a) 1 million b) 1 lakh ¢) 10 lakh d) none of these
6. The difference between the place value and the face value of 2 in 45321 is

a) 20 b) 19 ¢) 21 d) 18
7. The difference between the largest 6 digit number and the smallest 5 digit number is

a) 989999 b) 998999 ¢) 990000 d) 991000
8. Write the following numbers in expanded form.

a) 6352 b) 20008 c) 4253012 d) 89945321 e) 1002009
9. Estimate the sum by rounding off to nearest thousand

a) 6800 + 48500 + 31000 b) 4200 + 8935 + 1925 c) 19389 + 44333
10. Estimate the difference by rounding off to nearest hundred

a) 732 - 608 b) 8132 - 493 c) 8260 - 4990 d) 8995 - 4199

11. Estimate the product by rounding off to nearest tens

a) 33 x 81 b) 419 x 120 c) 115x 332 d) 1325x 35
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Place commas correctly and write the numerals

a) Fourteen thousand five hundred three

b) Seven lakh eighty two thousand four hundred five

c) Thirty nine million four hundred ninety two

d) Four million seven hundred twenty three thousand forty four
e) Eight crore forty two lakhs ninety thousand four hundred

Insert commas suitably and write the number names according to Indian as well as
international system of numeration.
a) 9008803 b) 7060904 c) 72059 d) 8205032

The cost of a mathematics text book is Rs.249. A teacher bought 21 mathematics books on
Monday and 32 books on Tuesday. Find the total amount paid by the teacher to the
shopkeeper.

The total population in a town is 22,44,239. If the number of males is and 8,03,998 and the
number of females is 10,99,900 and the rest are children. Find the number of children in the
town.

The cost of 32 TV sets of the same price is Rs.4,48,000. Find the price of each TV set.

Namitha wants to buy 2kg of mangoes for Rs.75 per kg and 3kg of bananas for Rs.45 per kg.
She has Rs.350. How much money is left with her?

A student multiplied 3432 by 72 instead of multiplying by 27. How much was his answer
greater than the correct answer?

A milk diary produced 6,499 liters of milk in an hour. How much milk can produce in a
day?

The woman of Lakshadweep village carry 75 pots of water every day. How many pots
would she carry in the month of July?

The cost of a table is Rs.4999 and the cost of a chair is Rs.1084. Find the total cost of 46
chairs and 25 tables.

The product of two numbers is 43,190. If one number is 1234, find the other number.



